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SN ABBTASY
M AZE - 9M o
s AS ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXH B2 LS 3,000 3,000 0
O=S Fat= 2| 3,000
= 3,000
AZOHE ZAl & HHE(A23 HEXIR) 53,625 0 53,625
= 41,250
= 12,375
308 XtXIEMSO0IE 53,625 0 53,625
= 41,250
s 12,375
01 XN B2 LS 53,625 0 53,625
OAlZs WX (HLXI) 53,625
= 41,250
[ 12,375
SR & ASAd2 4,998,790 4,750,450 248,340
= 3,787,000
= 1,211,790
SR & ASFd2 63,900 118,900 55,000
301 2= 3,900 3,900 0
14 JIEt2d = 3,900 3,900 0
OElsSSALEZAIZ &SH| 3,900
308 XXM SOIA 25,000 115,000 290,000
01 XN B2 LS 25,000 115,000 /90,000
O A =083 A& 25,000
403 MR HHMSAHE01H 35,000 35,000
01 MHXIHH A 22X 35,000 35,000
OMSEAYE A SZBHLXE AL 36,000
oelollIzASdgaCd 29 52,500 52,500 0
= 52,500
308 AHXIEMSOIH 52,500 52,500 0
= 52,500
01 AXEN B2 LS 52,500 52,500 0
O0el0l JI=zAlE dgaeld g3H N 52,500
= 52,500
FAES d2| 3,000 3,000 0
= 3,000
308 AIXIHHISOIA 3,000 3,000 0
= 3,000
01 XN B2 LS 3,000 3,000 0
ORE AYES &2 3,000
= 3,000
o0l FAta K& 18,000 18,000
307 lztol & 18,000 18,000 0




FA ASSUMS D
Ha: AE QM B
CHel: ZESIN U ABSMEe) (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 18,000 18,000 0
Ool0lE gadti=al X2 18,000
NS 2| N2HE 2 4,861,390 0 4,861,390
= 3,731,500
= 1,129,890
308 AtXIEHMSOIE 4,861,390 0 4,861,390
= 3,731,500
= 1,129,890
01 AXEHBSEES 4,861,390 0 4,861,390
OXlglgal2elNdE 28 N3 4,850,950
= 3,731,500
= 1,119,450
OXGSAl 2| X2 HE SAHAL MIHAHI 10,440
a =2 BA%g MHlA A= 74,104,310 73,228,045 876,265
= 20,146,885
[ 2,658,995
Il 27,245,260
e 60,000
= 23,993,170
Aratof1 e 2,700,721 2,741,803 A41,082
= 192,440
) 1,296,555
EN 60,000
=S 1,151,726
RO SLE s)[2 clsEdstE 925,245 898,113 27,132
Jl 629,555
== 295,690
307 el2to| & 305,210 296,288 8,922
) 152,605
< 152,606
05 212t =S 305,210 296,288 8,922
OZg THauPAE a2 218 X3 306,210
Il 152,605
= 152,605
308 XtXIEMSO0IE 620,035 601,825 18,210
Jl 476,950
=S 143,085
01 XN BELES 620,035 601,825 18,210
OJI= AatZAg a2 o1 X3 620,035
Jl 476,950
[ 143,085
et R AAS MHIA 821,404 892,404 A71,000
Il 560,000




FAN ASSUMS D
M F =2 P02 MHIA 7%
Rl Ko EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 261,404
307 gl2tol & 266,870 337,870 A71,000
Il 133,435
= 133,435
02 QB AANSEER 266,870 337,870 A71,000
OXtet K= @A AMHlA 2E X (ZH) 266,870
7l 133,435
= 133,435
308 XXM S0l 554,534 564,534 0
Jl 426,565
< 127,969
01 XN B2 LS 554,534 564,534 0
OXtet K= JAE MHIA NE(O1=x) 554,534
Jl 426,565
= 127,969
e 2= XNE A 150,000 150,000 0
7l 75,000
= 75,000
307 elztol & 150,000 150,000 0
Jl 75,000
s 75,000
02 2B YA HE X 150,000 150,000 0
OXtet == X2 Atgdd] 150,000
Jl 75,000
[ 75,000
AHaHOIPANY KT 450,000 477,000 A27,000
308 AtXIEMSOIE 450,000 477,000 227,000
01 HAHHBSEXRS 450,000 477,000 A27,000
OX&oe HNEH AL 400,000
OodgEsraite 29 XIE 30,000
OdBAY 23HH X3 20,000
AUSARA S AALSH 32,000 32,000 0
Jl 32,000
307 glztol & 32,000 32,000 0
Il 32,000
02 QB AANEE R 32,000 32,000 0
OX g A S JAAASH 32,000
Jl 32,000
M ES 2SAE 60,000 60,000 0
e 60,000
308 XXM SOIA 60,000 60,000 0
ES 60,000
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FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSgAHLSIAMNHNAE 28 XA 134,680
Jl 67,340
== 67,340
XSS SEAYSEAIL(AIZ) 4,631,734 5,106,408 NATA 674
Il 3,562,897
= 1,068,837
308 AtXIEHMSOIE 4,631,734 5,106,408 N474,674
Jl 3,562,897
= 1,068,837
01 HXSHH B EES 4,631,734 5,106,408 AN474,674
OXIS A2l SeASSTAIY XA 4,631,734
Jl 3,562,897
=S 1,068,837
A2l R A JHE (2 2) 3,456,653 3,386, 101 70,552
= 2,658,995
& 797,658
308 AtXIEMSOIE 3,456,653 3,386,101 70,552
[ 2,658,99%
= 797,658
01 AXEH B EES 3,456,653 3,386,101 70,552
OgZAd et K& 2,210,455
[ 1,700,365
= 510,090
OAl-loT iE4I AZ22|HHIA K& 1,246,198
= 958,630
& 287,568
2 tEEE d20t |4 16,740 16,060 680
Il 16,740
308 XXM SOl 16,740 16,060 680
Jl 16,740
01 AXEH B EES 16,740 16,060 680
Oty et A=l & AZ AL FMTP 16,740
7l 16,740
S E 2T IS 2 ALS 69,412 69,412 0
Il 34,706
= 34,706
307 212+01& 69,412 69,412 0
7l 34,706
= 34,706
05 2IIRIE =2 69,412 69,412 0
Odlgade oAt 25 X3 69,412
Jl 34,706
== 34,706




FAN ASSUMS D
M F =2 P02 MHIA 7E
Rl ALBSEES EER=E)
- ER(81H) - MRAKES - Bl of v e HIDE2
| XIXHH X 1,820,000 2,022,410 A202,410
Jl 1,400,000
== 420,000
308 AtXIEFA 1,820,000 2,022,410 A202,410
) 1,400,000
< 420,000
1,820,000 2,022,410 A202,410
1,820,000
Il 1,400,000
= 420,000
1,263,662 2,418,062 1,154,400
1,263,662 2,418,062 1,154,400
1,263,662 2,418,062 1,154,400
1,154,400
109,262
SE=(GRe=) 264,097 276,487 212,390
Il 245,671
= 18,426
264,097 276,487 12,390
Jl 245,671
= 18,426
264,097 276,487 212,390
264,097
Jl 245,671
s 18,426
SIS (G R 16,125 16,125 0
) 15,000
& 1,125
16,125 16,125 0
Il 15,000
= 1,125
16,125 16,125 0
022501 16,125
Jl 15,000
= 1,125
SIS GRS g=0tE &l X 20,140 30,534 A10,3%4
Jl 18,734
[ 1,406
20,140 30,534 /10,39
Jl 18,734
= 1,406
20,140 30,534 A10,3%4




FAN ASSUMS D
M A =2 2Ao= MHIA 2=
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2e2g0=agd it ER0tZaH| X 20,140
Jl 18,734
== 1,406
R0t LEZ FLEZAH NH 32,935 39,292 26,357
Il 30,637
= 2,298
308 AtXIEHMSOIE 32,935 39,292 6,357
Jl 30,637
= 2,298
01 HXSHH B EES 32,935 39,292 26,357
O&R0t L FLZAH NS 32,935
Jl 30,637
=S 2,298
SRS HEtk =8| XNZ A 1,3%4,221 1,560,994 166,773
) 1,161,851
S 232,370
308 AtXIEMSOIE 1,394,221 1,560,994 A166,773
Il 1,161,851
= 232,370
01 XN B EERS 1,394,221 1,560,994 166,773
ORI EE X 2/=H K& 1,394,221
7l 1,161,851
= 232,370
KSAM|HZEAL ZAEA RS2 546,996 546,9% 0
Jl 546,996
308 AXIHMSO0IA 546,996 546,99% 0
Jl 546,996
01 HAHHBAEES 546,996 546,99% 0
OXISAL2l ABEA ALY X & 546,996
) 546,996
XA S SHXEMEIA(E) 89,548 84,548 5,000
Il 44,774
< 44,774
201 er2 3| 5,000 0 5,000
Jl 2,500
= 2,500
01 At 2|l 5,000 0 5,000
OXgAelss S8 AEIA S8 5,000
Jl 2,500
= 2,500
307 lztol & 84,548 84,548 0
Jl 42,274
== 42,274




ALBSUAMS I
A e B2 AHIA P
dasdds EERE)
SA - ZE - BR(30) - HRA - B of v e HIDE2
05 2ItRIE = 84,548 84,548 0
OXlSAtzlEs SHAY 84,548
Jl 42,274
< 42,274
NSAASI S A SHXIE MEIA (Al 2,226,310 2,466,576 N240,266
Il 1,712,546
= 513,764
308 XM SOIE 2,226,310 2,466,576 A\240,266
Jl 1,712,546
= 513,764
01 RSN EES 2,226,310 2,466,576 A240,266
OXlgAtzlEs SHAIY X 2,226,310
Il 1,712,546
s 513,764
NASE SHA=AH 187,770 187,937 A167
) 131,440
S 56,330
308 AtXIEHMSOIE 187,770 187,937 A167
Il 131,440
= 56,330
183 BJ2S0tHetd 187,770 187,937 A167
ONASE sgII= 187,770
Jl 131,440
= 56,330
Y Az - 2| 1,352,934 756,200 596,734
= 676,467
[ 676,467
307 el2to| & 1,352,934 756,200 536,734
= 676,467
= 676,467
03 2IZFHAHEE 23| 1,352,934 756,200 596,734
Osga9g o 1,352,934
= 676,467
= 676,467
" A0t &0t X 10,000 10,000
307 lztol & 10,000 10,000
02 2IZHBHAIHE £ 10,000 10,000
Ogd A0ty 10,000
AL HIXA(E) 58,943 58,943
308 AXIHS0IA 58,943 58,943
01 HXHH B2 X 58,943 58,943
Oodolg et & 58,943

_10_




FAN ASSUMS D
B I =2 2R MHIA 7S
Rl ALBSEES EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
dolg2aaE gds 34l X2 45,000 45,000
308 XXM SOIA 45,000 45,000
01 XN B2 LS 45,000 45,000
Odgads gds 2adl A& 45,000
felsul A2 X210 XIHAH 32,500 32,500
308 AHAIEMSOIE 32,500 32,500
01 MAHHBSEEXS 32,500 32,500
O=clsyl AZX3101 K& At 32,500
AU et 2E2S S NS 41,769 41,769 0
308 AFAIEHMSOIE 41,769 41,769
01 XN EES 41,769 41,769
OZd 2es saxe XN 41,769
NS EHAE 2a=Ate]l €= Aeds WS 12,415 10,670 1,745
Jl 12,415
308 AFAIEHMSOIE 12,415 10,670 1,745
7l 12,415
01 XN BSEES 12,415 10,670 1,745
OXNS 2HAMY At 22 SEHa 1
= 12,415
Il 12,415
SAATIAALSI S A THEH(CBR) A Q124 232,700 136,225 96,475
= 179,000
& 53,700
308 AtXIEMSOIE 232,700 136,225 96,475
= 179,000
= 53,700
01 AXEH B EES 232,700 136,225 96,475
OXISAtelSY THE el2id] X 232,700
= 179,000
= 53,700
KNS A2 M AH RS 200,000 200,000 0
Jl 100,000
[ 100,000
307 elzto| & 200,000 200,000 0
Jl 100,000
= 100,000
02 QIHEHAIEE X 200,000 200,000 0
OXggdH 2 & 200,000
Il 100,000
= 100,000
LUETSEXNXNE 2 200,000 200,000 0
Il 100,000
== 100,000

_11_
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S ALSHAEY
B A =S 2202 NHlA P
i Ha =y SE2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| Oxmigg 23i= ane A 20,000
B - x0p2l 52,323,351 49,091,359 3,281,992
= 19,098,978
| 16,481,481
LS 16,742,892
JalAY Ao S 2Y 25,000 25,000 0
201 LeH2aY| 25,000 25,000
01 At 2teltl 25,000 25,000
OTAIAY YoRRsl S 29 25,000
JIEZUAL=TIME X 564,655 564,655 0
Il 434,350
= 130,305
308 AXIHSOIA 564,655 564,655 0
l 434,350
&= 130,305
01 MBS ExS 564,655 564,655 0
OIIZBAALZTIME X 564,655
| 434,350
LS 130,305
DIZFUALENHE 2SN 3.1 .29 864
308 KIXIEHRISO0IE 3,15 32.2% 864
01 AN BSEES 33,156 2,292 864
OJIZFAAASME SAX LN 33,156
JIZEUAYSXLE o5 K& 4,303,871 3,763,513 540,358
Jl 3,310,670
&= 993,201
308 AHXIHMSOIA 4,303,871 3,763,513 540,358
| 3,310,670
= 993,201
PR == 4,303,871 3,763,513 540,368
OJIZFAAZTIME 012t K& 4,303,871
Jl 3,310,670
= 993,201
CIESIEESTE RSP 200,850 167,700 3,150
Jl 154,500
= 46,350
308 AXIHSOIA 200,850 167,700 33,150
l 154,500
&= 46,350
01 MRS LEXS 200,850 167,700 33,150
OF(A)EXIISMHUE X 200,850
| 164,500




=
=

HoE AHIA

=

od
i’
oF
uJ

= = S8 8 8 S S8 S NS N
< < < < < < ~ <
i 5 |8 | S F R g &
Klo = =
E < <
E=)
% % m 188 38 8 S 8 8 S 3 3
) ) ). Eol I et < < < < < < 0 L0
4 - F S -
RIS
DR B B[R BB S BB S S SIS S8 3833I8338s8838838 8388388 hb 85
DM ©Q QM © QM M © QIO B Q Q|9 Q QI Q Q|9 Q Q Q| Q QI Q Q|Q Q Q Qe @ Q|Q @ <
slce8rB88srol8l8ecseiga|saazoaa8calssysssgsgegys
3r - - - = L o|lgyw olg § v o
<
S
H ~ W ~ W ~ W ~ W nr W

- SRA(E) - HIRAY

- HyS

S - B

2|

st

SXHE X2

12t

[

2

o Al

307 212t01&

FEXEE MM

o

=
[=)

H|

307 212+01™
307 212+01™

308 At

=01

HA|

403 Xt

_14_




FAN ASSUMS D
M F =2 P02 MHIA 7E
el & - X2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 453,086 1,738,560 N 1,285,474
OBURIAE JIsE2L K& 453,086
= 302,057
< 151,029
SaTHEAE 28X 724,800 709,785 15,015
308 AtXIEHMSOIE 724,800 709,785 15,015
01 HAHHBSEXS 724,800 709,785 15,015
OFAMTHEAE 2EXH 724,800
SAMEAE JIs2S 1,063,666 0 1,063,666
= 856,983
=S 196,683
403 X SHHMSAH=01H 1,063,666 0 1,063,666
= 856,983
== 196,683
01 AXISHHA 22 £ 1,053,666 0 1,053,666
OZMEANE JIsES NE 1,053,666
= 856,983
< 196,683
FALSTAIE K& 330,372 330,372
308 XM SOIE 330,372 330,372
01 AXEH B EES 330,372 330,372
OZAABSTAIE SAHA MRHA 230,328
OZUAHSSTAIE SALAL dda4dl X 100,044
NAHABHAY X 300,000 300,000 0
308 AXIHSOIA 300,000 300,000
01 XN BSELES 300,000 300,000
OXNSFHAMEHAIY K& 300,000
oA A=l A 152,750 123,500 29,250
= 117,500
= 35,250
308 AFAIEHMSOIE 152,750 123,500 29,250
= 117,500
= 35,250
01 AXNBEES 162,750 123,500 29,250
Oduldetkt X=dl X& 162,750
= 117,500
== 35,250
SSINALBSIANE A& 1,685,487 1,857,123 128,364
) 1,296,530
= 388,957
308 AtXIEMSOIE 1,685,487 1,557,123 128,364
Il 1,296,530
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MEE
Ofl &k2h

1,557,123

654,000

654,000
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569,400
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Ofl &F2H

iy
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J|

Iy

240,691
695,662
347,831

Il

H
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Jl

H
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J|
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427,519
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Il

H
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98,658

427,519
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Il
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A ALSEASL
HE: B g2 22002 NUlA P
el & - X2l EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFuESZHH 29 XA 398,580
| 249,112
T 149,468
&A=01 OIS NJAS 2,215,798 0 2,215,798
= 1,848,438
& 367,360
308 AXISHMSOIH 2,215,798 0 2,215,798
= 1,848,438
& 367,360
01 AXSHHBNEXRS 2,215,798 0 2,215,798
ON=3D OISEA KA 2,215,798
= 1,848,438
T 367,360
SAHAZI = HATPML ALY 200,000 0 200,000
307 212+01™ 200,000 0 200,000
02 QIZtBAAIHE R 200,000 0 200,000
OBAHZI|= HPIMNLA 200,000
XOHeraldly 29 XIJ 9,240,840 10,258,729 1,017,889
| 8,906,834
& 334,006
308 AXIEHMSOIN 9,240,840 10,258,729 21,017,889
| 8,906,834
T 334,006
01 AXSHHBLERS 9,240,840 10,258,729 21,017,889
OXIoHetAHIE 29 XI& 9,240,840
| 8,906,834
= 334,006
XX S22l KA (HEAY) 3,296,475 2,798,722 497,753
308 AXISHMSOIA 3,296,475 2,798,722 497,753
01 XIXISHHBAE LS 3,296,475 2,798,722 497,753
OXIOiXIZz2teldl K& 3,296,475
X0t At2teld] K& 390,000 409,669 19,669
308 AXISHMSOIH 390,000 409,669 19,669
01 IXSHHBLERS 390,000 409,669 A19,669
OMIIXIOH =Rl =285 A 2HXA 180,000
OXIOHEH Rt 2tel X3 210,000
ZAXHHEH 29 651,887 639,389 12,498
J| 456,321
T 195,566
307 212+01™ 651,887 639,389 12,498
| 456,321
& 195,566
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ZSEXINME XISS=H K& 4,266 5,357 A1,091
) 2,986
< 1,280
307 @120l & 4,266 5,357 21,001
Il 2,986
= 1,280
05 git?(& = 4,266 5,357 21,091
OZ AN HHE XNHSS=A At XI& 4,266
7l 2,986
= 1,280
SSA e 33=d X 26,821 29,838 23,017
Jl 26,821
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7l 26,821
01 HXHHBAEES 26,821 29,838 A3,017
Oxlliss=2d XA 26,821
) 26,821
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308 AXIHSOIA 30,000 0 30,000
01 XN BSELES 30,000 0 30,000
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Il 201,000
= 60,300
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01 AXEH B2 LS 261,300 236,600 24,700
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Il 201,000
== 60,300
HH2LIH(ALSTAISY) 91,980 91,980 0
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